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18 R A = C+E+F 153,464 363,056 1366 & B | A 1000
(1) & &% I & B=C+E 153,464 1 A 1000 & # | A 1000
7 EEIRIE C 150,231 & R —— | A 1000
LA 144,910 & B —— | A 1000
ZEIEIWE D 1,833 & —— | A 1000
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BINED S HhEEHEAS 690 =B —— | A 1000
2 #% & H G = [+K+L 137,694 363,056 1637 & B | A 1000
M BEEH H=IK 136,833 13,707 A 900 & B | A 1000
7 EEER | 136,473 13,707 A 900 & B | A 1000
RimEENE 30,084 &R —— | A 1000
& # % 1,356 488 A 640 B B | A 1000
£ i M 6,905 3,536 A 488 B B | A 1000
ZHIEER J 1,750 & —— | A 1000
14 BEE5ER K 360 & B —— | A 1000
TEEIR 355 & B —— | A 1000
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3 B & AG 15,770 &R —— | A 1000
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#EEXx W 13,706 B e B R S
BEEEE (C-D)-(1-J) 13,675 A 13,707 A 200.2 100.0[ A 100.0
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(1) BEHEE 18,037 & O —— | A 1000
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1 #IRF bz 1115 100.0 — A 115 —— | #VALUE!
2 BEINZLE 1122 — A 1122 —— | #vALUE!
3 BEEEREKRFLE -— —— —— | A 1000
4 BEEEEXRIAEARLE 63.4 A 63.4 A 100.0
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